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B naw Bex MIUPOKOro MEXHAIHOHAILHOTO OBOIIEHHS, MOCTOSHHOIO JHanora
KyIbTYp Pa3sBUBATL OTOT BUJ PEYEBOH JNEATENBHOCTH 0COOEHHO BakHO. [IpakThka
MOKa3bIBAET, YTO, €CIIM IIPENOJaBaTellb, AaXe HOCUTENb S3bIKa, HE MCIOJIB3YeT Ha
YPOKe ayJIMOKACCEThI, CTyIeHTHI IOUTH HaBepHSIKA He TOTOBBI K TIOHUMAHWIO 3BY-
Jaier peun. M, Hao60poT. I'paMOTHOE HCIIONIB30BaHKE aYAHOKACCET Ha 3aHATUSIX
CIIOCOOCTBYeT MOATOTOBKE CIIylIaTeledl K CUTYalusM peanbHOro OOIIEHUS, CHU-

Mast BCEBO3MOXKHBIE TPYAHOCTH, O6yCHOBJ’IeHHLIe pa3IndHbIMU IIPUYIHHAMH.

Hacrosiee mocobue — He TepPBBI OIBIT UCIIOIL30BAHUS Ay TUPOBAHUS B
y4ebHol aynuropuu. B To# MM MHON Mepe CTyNeHThl 00y4anuch ayupOBaHUIO
MpU 10Ka3ax UM y4yeOHbIX BUACO(UIBMOB, MPOCTYIIHBAHUHA MY3BIKH, a TAKKE
rpaMMaTHyecKkux recHonenuid ( grammar chants). OmHako 5T0 — TEPBBIA OMBIT
CO3JaHMs MOCOOHS IO ayIUPOBAHUIO CHJIaMH KaK NPENoAaBaTellsi, TaKk W CaMUX

CTYJICHTOB.

Jlexcuueckue ynpaxHeHUs 10coOus HApaBIeHBl HAa Pa3BUTHE U COBEP-
UIEHCTBOBAHME HABBIKOB U yMEHHH yueOHOTO aynupoBaHus. B manbHeiimem mia-
HUPYETCS MOMOIHATL NOCOOHE HOBBIMH TEKCTaMU JIMHIBOCTPAHOBEIYECKOIO Xa-
pakTepa u 0OOMIEOLITOBON HANPABICHHOCTH, & TAKXKe (POHETHUECKUMH W Ipamma-

THYCCKHUMHU YIIPAXKHCHUAMH.
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UNIT 1
1. Listen to the text “Florence Nightingale”.

Florence Nightingale

Do you know who Florence Nightingale was? If not — listen to this story.

One hundred years ago the first professional School for nurses was founded
at one of the hospitals in London by a young English woman Florence Nightingale.
She was born on May 12, 1820, in the Italian city of Florence after which she was
named. She was one of the greatest woman in the history of England.

In 1854 Miss Nightingale and 38 other nurses whom she knew well went to
the Crimea to help in the care of the sick and wounded British soldiers during the
Crimean War of 1853-1856. The death rate among the wounded was 42 per cent.
The first thing to decrease the death rate among the wounded soldiers was the need
of cleanliness.

Four months later the death rate among the wounded soldiers decreased to 2
per cent. During this period the nurses worked day and night, caring and nursing
about 10.000 men.

Miss Nightingale never gave an injection, never took blood pressure or
made an electrocardiogram, but she did her best establishing a more reasonable and
hopeful way of handling all of kinds of illness. This way of handling has been used
up to now.

She became prominent because she was the first to establish the nursing
profession. During the past centufy the lamp which she carried while making her
nightly rounds in dark building used as hospital wards in the Crimea has become

symbolic of the ideals of nursing.

2. Repeat the following words and expressions.
1. to be named after — OBITH HA3BAHHBLIM B 4ECTh

2. the death rate — ypoBeHb CMEPTHOCTH
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to decrease the death rate — CHH3HTE ypoBEHL CMEpPTHOCTH
the wounded soldiers — paHeHHBIe conmaThl
the need of cleanliness — HEOGXOUMOCTh YHCTOTHI M CTEPHUITBHOCTH
caring and nursing — 3a60Ta u yxo7 3a 60JIbHBIMU
handling all of kinds of illness — yMenwe neunTh pazIUUHBIE
3aboneBaHust

- to establish the nursing profession — ocHoBats npodreccio MmeacecTpsl

to make nightly rounds — coBepiiaTs HOUHBIE 06XOBI

10.the ideals of nursing — neansl cecTpUHCKOTO yX0/a 32 GOIBHBIMHU

3. Match the English words and expressions with their Russian
equivalents.
1. to name after — npodeccus mencecTps

2
3.

the death rate - coBepmats 06x0abI

to decrease - OCHOBBIBATH

. the wounded soldiers - 3a60ta 1 yxoz
. Cleanliness - ymeHHe teuuTh 3a601€BaHUS
. caring and nursing - Ha3bIBaTh B 4eCTh

4
5
6
7
8
9

handling of illness - ypoBeHEL cMepTHOCTH

. to establish — moHwxaTs, cHUXATH

. the nursing profession - panenHble conaaTEHI

10.to make rounds — yrcroTa, CTEpUIBLHOCTE

4. Listen to the text again.

5. Choose the most appropriate variant of the sentence that corresponds

to the main idea of the text.

The text is about:

a) Florence Nightingale’s visit to the Crimea in 1854

b) How Miss Nightingale established the nursing profession
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c) The life and activities of the most famous female nurse Florence

Nightingale (one of the greatest women in the history of England).

6. Choose the right answer.

1. What did Florence Nightingale and her nurses do during the war of 1853-
1856 in the Crimea?
a) they participated in the war actions
b) they came to meet the Russian tsar

c) they came to help in the care of the sick and wounded British soldiers.

2. What helped to decrease the death rate among the wounded soldiers?
a) good care and nursing
b) heroism and enthusiasm of the nurses

c) cleanliness

3. Why has the name of Florence Nightingale become widely known?
a) she gave injections, took BP and made an electrocardiogram perfectly
b) she was the first to establish the nursing profession

d) she established a new way of handling all kinds of illness.

4. After whom was Florence Nightingale named?
a) her grandmother
b) the Italian city of Florence where she was born

c) the Italian princess

5. Where was the first professional School for nurses founded?
a) in London
b) in the Crimea

¢) in Florence

6. When was the first professional School for nurses founded?

a) two hundred years ago
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, b) fifty years ago

¢) one hundred years ago.

7. Complete the sentences.
a) The first professional School for nurses was founded at one of the
in London.

b) She was born on May 12, 1820, in the Italian city of Florence after which

T she was

c) In 1854 Miss Nightingale and 38 other went to the
] Crimea.
_ d) among the wounded was 42 per cent.

e) Four mounts later the death rate among the wounded soldiers
to 2 per cent.
f) Miss Nightingale never gave an
g) She never blood pressure or an
electrocardiogram.
h) She established a new way of all kinds of illness.

% i) She was first to the nursing profession.

8. Do the comprehension text. Agree (+) or disagree(-) with the
following statements.
a) F. Nightingale was born in England in 1820.
T b) The first professional School for nurses founded in Russia two hundred
years ago. )
c) F. Nightingale established a new way of handling all kinds of illness.
d) She became prominent because she was the first to establish the nursing
profession.
- e) F. Nightingale did her best establishing a more reasonable and hopeful

way of handling all kinds of illness.
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f) F. Nightingale gave injections, took blood pressure, made an

electrocardiogram perfectly.
g) During 4 months period the nurses worked day and night, caring and
nursing, about 10.000 men.

She has never made nightly rounds in the hospital wards in the Crimea.
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1. Listen to the text “Florence Nightingale”.

GALLSTONES.

Gallstones are found in 10-15% of people. They have been discovered even
in the new born. However until the age 15-20 their occurrence is extremely rare.
After the age of 70 gallstones may be found in every third person, the incidence of
the disease among women being considerably more than among men.

Gallstones are formed in the gallbladder and bile ducts. Their origin is due to
disturbances of cholesterol metabolism, that is an increased amount of cholesterol
in the blood and bile. Inflammatory processes in the gallbladder and bile ducts are
also responsible for the development of gallstones.

The stones may remain in the gallbladder for years without causing
discomfort. In other cases the stones are responsible for the development of a
serious disease named cholelithiasis, it causing the patient great suffering and
sometimes resulting in a fatal outcome.

The chief symptoms of cholelithiasis are attacks of sharps pain in the right
hypochondrium, they often being accompanied by vomiting, chill, and a high
temperature. Jaundice may develop in cases when a gallstone occludes a large
hepatic or bile duct.

During such attacks the patient is usually given a subcutaneous injection of
pantopon, atropine or promedole. The patient must follow complete bed rest, hot-

water bottles being constantly applied to the liver area to relieve pain.

2. Repeat the following words and expressions.
1. gallstones — >xesr4HBIe KAMHH

2. gallbladder — »xem4HBIH My35Iph

3. bile ducts — >xeT4HbIE TPOTOKK

4. hypochondrium — npaBoe nojpebepne
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5. jaundice - xenryxa

6. cholelithiasis — xonenuTuas, xenyekameHHas OONe3HD
7. to discover — 0GHapyKMUBaTh, OTKPLIBATH

8. the newborn - HOBOPOXIEHHBIIT

9. occurrence — ciyyaii, pacipocTpaHeHHe

10. incidence — cdepa neiicTBus, oxsar

11. origin — nepRonpuunHa, MPOKCXOXKTEHHE

12. disturbances — napyiuenus

13. cholesterol - xonecrepun

14. a large hepatic duct — GONBIIOH MTOYEUHBIH TPOTOK
15. occlude — 3akpbiBaTh, 3aKynopuBaTh

16. subcutaneous injection — MOAKOXHAS HHBEKIHS

17. inflammatory processes — BocialuTeTbHbIEC MPOLIECCHI

18. a fatal outcome — cmepTenBHEL Hcxo.

3. Match the English words and expressions with their Russian

equivalents.
1. gallstones a) JKenTyxa
2. gallbladder b) sxenuexamennas GonesHb
3. bile ducts C) BOCHIAIUTEJIbHbIE TTPOIIECCHI
4. jaundice d) »emdHbIe KaMHH
5. right hypochondrium €) CMEpTeJbHbINA HCXO]
6. cholelithiasis f) JKeTUHBIH 1Ty36IpE
7. to discover &) 3aKpbIBaTh, 3aKyTIOPHBATD
8. to occlude ) h) oOHapyxuBaTh, OTKpLIBAThH
9. inflammatory processes i) npaBoe noapebepne
10. fatal outcome j) ’KeITYHBIe MPOTOKK

4. Listen to the text again.
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5. Choose the most appropriate variant of the sentence that corresponds
to the main idea of the text. The text is about.
a) gallstones in the gallbladder and bile ducts
b) inflammatory processes in the gallbladder and bile ducts
c) the chief symptoms of cholelithiasis (treatment of patients with
cholelithiasis).
6. Choose the right answers.
1) Where are gallstones found?
a) in the liver
b) in the gallbladder and bile ducts

¢) in a large hepatic duct.

2) Wart are the reasons of gallstones formations?
a) the small amount of cholesterol in the blood and bile
b) the use of alcohol
¢) in disturbances of cholesterol metabolism and inflammatory processes

in the gallbladder and bile ducts.

3) Wart may be the results of cholelithiasis?
a) discomfort
b) great suffering

¢) fatal outcome.

4) Wart are chief symptoms of cholelithiasis?
a) high temperature
b) pale skin

c) rash.

5) Wart are measures of relieving pain during the attacks of cholelithiasis?
How can attacks of cholelithiasis be treated?
a) complete bed rest, hot-water bottles, and subcutaneous injections of

pantopon, atropine or promedole
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b) ice-bags on the liver area

c) physical exercises.

. Complete the sentences.

. Gallstones have been discovered even in the

. Until the age of 15-20 their is extremely rare.
. Gallstones are formed in the and
. Disturbances of cholesterol metabolism mean an increased

of cholesterol in the blood and bile.

- Cholelithiasis causes the patient great

. It sometimes results in

. The main of cholelithiasis are attacks of sharp pain in
the are right hypochondrium, vomit, chill and a high temperature.
may develop when a gallstone occludes a large

hepatic or bile duct.

8. Do the comprehension text. Agree (+) or disagree (-) with the

W

following statements.

1,

Gallstones are found more often among women than among men.

2. After the age of 70 gallstones may be found in every second person.
3.
4

Gallstones have not been discovered in the new-born.

- Gallstones may remain in the gallbladder for years without causing

discomfort.

. Gallstones causes a serious disease named cholelithiasis.

- The occlusion of a large hepatic or bile duct by a gallstone may cause

jaundice.

. One of the symptoms of cholelithiasis is attacks of sharp pain in left

hypochondrium.

- A relieve pain during the attack of cholelithiasis hot-water bottles mast be

applied to the liver area.
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9. An intravenous injection of pantopon, atropine or promedole is given to

the patient during the attack of cholelithiasis.
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UNIT 3

1. Listen to the text “Acute Bronchitis”.

Acute Bronchitis

Acute bronchitis is the disease of the bronchi. It is the inflammation
(6ocnanenue) of the bronchi. Its main symptom is a short painful dry cough
accompanied with rapid respiration. The patient often complains discomfort in the
chest and breathes heavily. Both dry and moist rales are heard in the lungs.

The amount of the discharge from the bronchial mucous membrane is large.

It accumulates in the bronchial tubes and makes the patient cough.

1. Acute bronchitis is the disease of the bronchi. 2. It is the inflammation of
the bronchi. 3. The main symptom of acute bronchitis is a short painful dry cough.
4. Dry cough is associated with rapid respiration. 5. The patient complains of the
pain in the throat and behind the breastbone. 6. The patient feels discomfort in the
lungs. 9. There is a large amount of the discharge from the bronchial mucous
membrane. 10. It accumulates in the bronchial tubes. 11. This discharge makes the

patient cough.

2. Repeat the following words and expressions.

1. bronchitis - OpoHXUT

acute bronchitis — ocTpblii OPOHXHUT
2. bronchus - 6poHX
bronchi — 6porxu

. associated — CBSI3aHHBIH C ....
. rapid respiration — y4aIIeHHO€E JbIXaH1E
. behind the breastbone — 3a rpyauHOit
. dry rales — cyxue XpuIibl

. moist rales — BIayKHbIE XPHIIBI

L 9 O N B~ W

. discharge — BbI€IIEHUS], CEKPET, OTAEAEMOE
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9. mucous membrane — cu3nUCcTass 000JI0YKa
10. to accumulate - CKaIlJIuBaTbCsl, HAKAILJIMBATBCSL

11. bronchial tubes — 6poHxHOIBIL.

3. Match the English words and expressions with their Russian
equivalents.

1. acute bronchitis — y4JarieHHOe IpIXaHUE

2. bronchial tubes — cyxoii xamrennb

3. inflammation of the bronchi — octpbrit OpoHXHT

4. rapid respiration — cyxue XpHIIbI

5. behind the breastbone — Bia)HbIe XPHITBI

6. dry rales — cnusucTas 060104Ka GPOHXOB

7. moist rales — 3a rpyJUHOIA

8. dry cough — Bocnanenue 6poHx0OB

9. bronchial mucous membrane — 60JIbLIOE KOJIMYECTBO OTAEISAEMOrO

10. discharge — GpOHXHUOEI

11. to accumulate — HaKaTIMBaTHCS.
4. Listen to the text again.

5. Choose the most appropriate variant of the sentence that corresponds

to the main idea of the text.

The text is about:
a) The inflammation of the Bronchi.
b) A short painful dry cough.

c¢) The disease of the bronchi.

6. Choose the right answers.
1) What is acute bronchitis?

a) It is the disease of the bronchi.
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b) It is disease of the lungs.

¢) It is inflammation of the throat.

2) What is the main symptom of acute bronchitis?
a) A short painful dry cough.
b) The pain in the mouth.

¢) Discomfort in the eyes.

3) How does the patient with acute bronchitis breathe?
a) He breathes heavily.
b) He breathes freely.
c) He breathes rapidly.

4) What makes patient with acute bronchitis cough?
a) The accumulation of the discharge in the bronchial tubes.
b) The pain in the throat and behind the breastbone.

¢) Dry and moist rales in the lungs.

5) How much discharge is there in the bronchial tubes?
a) A large amount of the discharge.
b) A small among of the discharge.

¢) None of the discharge.

6) How does the patient with acute bronchitis feel?
a) He feels discomfort in the chest.
b) He feels pain in the back.
c) He feels healthy. ‘

7) What is usually heard in the lungs of a patient with acute bronchitis?
a) Dry rales.
b) Moist rales.

¢) Both dry and moist rales.
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8) Where are the bronchial tubes located?
a) In the bronchi.
b) In the lungs.
¢) In the heart.

7. Complete the sentences.

1. The patient discomfort in the chest and
heavily.

2. The discharge makes the patient

3. Acute bronchitis is of the bronchi.

4. The bronchial membrane is full of the discharge

that makes the patient cough.

5. The patient complains the pain behind the breastbone.
6. The discharge accumulates in the tubes.
7. Dry cough is the main of acute bronchitis.

8. Do the comprehension test. Agree (+) or disagree(-) with the
following statements.
a) The discharge from the bronchial mucous membrane makes the patient
cough.
b) The patient feels discomfort in the heart.
¢) Acute bronchitis is the disease of the pain in the right hypochondrium.
¢) The main symptom of acute bronchitis is a short, painful dry cough.
f) The patient breathes freely.

g) There is a large amount of the discharge in the bronchi.
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UNIT 4

1. Listen to the text “Jaundice”.
Jaundice

Jaundice is a symptom common to many disturbances and diseases of the
liver, such as obstruction of the bile ducts, cancer, etc. In jaundice the skin and the
sclerae take on a yellowish colour which may vary in its intensity. Even the serum
of the blood is bile coloured. Jaundice is frequently accompanied by severe itching.
The pulse is usually slow, and there is a tendency to haemorrhage. In advanced
cases nervous symptoms may develop. Jaundice being caused by obstruction, the
bile cannot pass to the intestines and the stools are of a white colour. The urine is
deeply coloured. In toxic jaundice the stools may be of normal colour or deeply
bile coloured.

Infectious jaundice in adults has been found to be due to a virus. It is
characterized by fever, vomiting, jaundice and haemorrhage from the nose,

intestines, etc. Jaundice is not a rare complication in case of severe intoxication.

2. Repeat the following words and expressions.
1. jaundice - xentyxa
obstruction - 3aKynopka
bile ducts — >xen4uHbIE TyTH

cancer — paK

2.

3;

4.

5. serum — CBIBOPOTKA
6. itching — 3y

7. haemorrhage — kpoBoTeueHue
8. intestines — KMILLIEYHUK

9. vomiting — ppoTa

10. intoxication - UHTOKCHKALIMSI





image23.jpeg
17

3. Match the English words and expressions with their Russian

equivalents.
1. jaundice a) CBIBOPOTKA
2. obstruction b) KxpoBoTEeUEeHNE
3. bile ducts C) pBOTa
4. cancer d)3yn
5. serum e) pak
6. itching f) 3akymopka
7. haemorrhage £) KUILEeYHUK
8. intestines h) uHTOKCHKAIMs
9. vomiting 1) 5KeJlYHble ITyTH
10. intoxication j) xenTyxa

4. Listen to the text again.

5. Choose the most appropriate variant of the sentence that corresponds

to the main idea of the text.

The text is about:
a) severe intoxication and its outcome
b) the virulent origin of infectious diseases

¢) the common symptom of many liver diseases

6. Choose the right answers. -
1) What causes infectious jaundice in adults?
a) a virus
b) a severe intoxication

c) liver diseases
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2) Jaundice is frequently accompanied by?
a) itching
b) coghing

) sneezing

3) What colour do skin and sclerae take on in jaundice?
a) a white colour
b) a dark-yellow colour

¢) a yellowish colour

4) In jaundice the pulse is usually:
a) fast
b) shallow

c) slow

5) What colour is the serum of the blood in jaundice?
a) of normal colour
b) deeply bile coloured

¢) bile coloured

6) What symptoms may develop in advanced cases of jaundice?
a) fever
b) vomiting

c) nervous symptoms

7. Complete the sentences.

1. Jaundice is frequently accompanied by itching.

2. In advanced nervous symptoms my develop.

3. Jaundice is not a rare complication in case of severe

4. The bronchial membrane is full of the discharge

that makes the patient cough.
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5. In jaundice the skin and take on a yellowish colour.

6. The cannot pass to the intestines and the stools are
of a white

7. Even the of the blood is bile coloured.

8. Infectious jaundice in adults is characterized by

from the nose, intestines, etc.

8. Do the comprehension test. Agree (+) or disagree(-) with the
following statements.

a) Jaundice is a symptom common to many kidney diseases.

b) In advanced cases of jaundice nervous symptoms may develop.

¢) Jaundice is caused by obstruction of the bile ducts.

d) In jaundice the bile passes freely to the intestines and the stools are of
normal colour.

e) Infectious jaundice is characterized by fever, vomiting, jaundice and
haemorrhage from the nose, intestines, etc.

f) Jaundice is frequently accompanied by coughing.

g) Jaundice is often caused by severe intoxication.
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UNIT 5

1. Listen to the text “Structure of teeth”.

Structure of teeth

Every tooth consists of a crown, a neck and one or more roots. The crown is
the part visible in the mouth and the root is the part hidden inside the jaw. The
junction of a crown and root is called the neck and the end of the root is called the
apex. Every tooth is composed of enamel, dentine, cementum and pulp.

Enamel is the outer covering of the crown and is the hardest substance in
the body.

Cementum is the outer covering of the root and is similar in structure to
bone. Cementum meets enamel at the neck of the tooth.

Dentine occupies the interior of the crown and root, and is very sensitive to
pain.

Pulp. Unlike enamel, dentine and cementum, the pulp is purely soft tissue. It
contains blood vessels and nerves, and occupies the centre of the dentine.

Supporting Structures. Every tooth is inserted into the jaw by its root. The
part of the jaw containing the teeth is known as the alveolar process and is covered
with a soft tissue called gum. The jaw bones consist of a dense outer layer known
as compact bone and a softer interior called spongy bone.

A tooth is attached to its socket in the jaw by a soft fibrous tissue called the

periodontal membrane.

2. Repeat the following words and expressions.
1. crown — KOpOHKa
2. neck — 1reiika
. YOOt — KOpeHb

3

4. gum — ecHa
5. to consist of — cocTosITh U3
6

. visible — BUIUMBIHA




image27.jpeg
21

7. hidden — cKpbITBIi

8. junction — MecTo CoeIMHEeHUs

9. be called — Ha3BIBaTECS

10.be covered with — ObITh MOKPBITHIM Y-J1

11.sensitive to pain — 4yBCTBUTENBHBIN K 60U

12.blood vessels and nerves — KpPOBCHOCHBIE COCYABI H HEpPBHbIC
OKOHYaHMS$I

13.outer layer — Hapy>kKHBIH cioit

14.soft tissue — MsATKasA TKaHb

15.fibrous — ¢pubpo3HEIT

3. Match the English words and expressions with their Russian

equivalents.
1. crown a) melika
2. neck b) KopeHb
3. root C) necHa
4. gum d) kopoHKa
5. to consist of €) MECTO COEUHEHHs
6. visible f) CKphBITHIH
7. hidden g) BUIUMBIH
8. junction h) cocrosTs n3
9. be called 1) OBITH MOKPBITHIM Y-JI
10.be covered with j) Ha3bIBaTHCS
11.sensitive to pain k) Hapy>kHBI1 cr0i

12.blood vessels and nerves - 1) MArkas TkaHb

13.outer layer m) KpOBEHOCHBIE COCYAbl M HEpBHbIE
OKOHYaHHS
14.soft tissue n) GpuOpPO3HbIH

15.fibrous 0) UyBCTBUTEIILHBIA K 601K
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4. Listen to the text again.

5. Choose the most appropriate variant of the sentence that corresponds

to the main idea of the text.

The text is about:
a) the supporting structures of teeth
b) the composition of teeth

c) the composition and structure of teeth.

6. Choose the right answers.
1) Haw is the junction of a crown and root called?
a) the apex
b) the neck
c) the gum.

2) What does a tooth consist of?
a) enamel, cementum
b) dentine, pulp

c) a crown, a neck and one or more roots.

3) What is every tooth composed of?
a) a crown, a neck
b) ore or more roots

c) Enamel, cementum, dentine and pulp.

4) Where does cementum meet enamel?
a) at the neck of the tooth
b) at the crown

¢) at the root of the tooth.
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S) What is cementum?
a) the inner covering of the root
b) the outer covering of the neck

c) the outer covering of the root.

6) What does pulp contain?
a) blood vessels
b) nerves

¢) blood vessels and nerves.

7) What is gum?
a) soft tissue
b) hard substance

¢) dense outer layer.

. Complete the sentences.

1. A tooth is attached to its in the jaw by a soft

fibrous called the

2. Unlike enamel, dentine and cementum, the pulp is purely

tissue.
3. The pulp the centre of the root.
4. Cementum is the outer of the root, and is

in structure to bone.
5. Cementum enamel at the of the tooth.
6. Dentine occupies the of the crown and root, and is
very to pain.
7. Every toots is into the jaw by its root.
8. The alveolar process is covered with a soft called gum.
9. The crown is the part in the mouth.

10.The root is the part inside the jaw.
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- 11.The jaw bones consist of a dense outer known as
compact bone.
12.The of a crown and root is called the neck.

13. Enamel is the hardest in the body.

8. Do the comprehension test. Agree (+) or disagree(-) with the
following statements.

- a) Every tooth consist of a crown, a neck and a root.
b) The crown is the part hidden inside the jaw.
¢) The root is the part visible in the mouth.
d) The junction of a crown and root is called the neck.
e) Enamel is the softest substance in the body.
f) The end of the root is called the apex.
g) Cementum is similar in structure to bone.
h) Every tooth is inserted into the jaw by its neck.
i) Cementum is the outer covering of the crown, and is sensitive to pain.
j) The pulp occupies the interior of the crown and root and is the hardest
- substance in the body.

k) Dentine is purely soft tissue, it contains blood vessels and nerves.

1) The alveolar process is covered with a soft tissue called gum.

m) The periodontal membrane attaches teeth to their sockets in the jaw.
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UNIT 6

1. Listen to the text ““ Botkin’s disease”.

Botkin’s disease, or the so-called epidemic or infectious hepatitis, is an acute
viral disease affecting hepatic cells and bile ducts.

The prominent German scientist Virchow believing it to be due to
obstruction of the common bile duct with mucus during inflammatory processes in
the duodenum, the disease was called catarrhal jaundice.

But in 1880 the prominent Russian scientist S.Botkin having advanced the
idea of an infectious origin of this disease, proved his suggestions by such facts as
the involvement in this pathologic process not only of the liver but also of the
nervous system, the kidneys, the enlargement of the spleen, etc.

But it was not before 1940 that the term “Botkin’s disease” was introduced
into medicine due to the efforts of the well-known Soviet physician
M.Konchalovsky.

Botkin’s disease occurs in epidemic form. This disease more commonly
affects children, adults as well as elderly persons suffering from it frequently too.

Botkin’s disease is known to be due to a filterable virus present in the blood,
liver and found in stool and urine. The virus is infective only for man. As this virus
cannot be seen under a usual microscope, it is revealed only by an electronic one.
Being highly virulent virus survives in water, food, and on hands for days and
weeks.

2. Repeat the following words and expressions.

Acute OCTpPBIH

To affect BIIUSITh,BO3I€HiCTBOBATh
Hepatic cells KJIOTKH ITeUeHH

Bile ducts YKEITIHBIC TPOTOKH
Obstruction 3aKyrnopka

Mucus Chu3b

Inflammatory BOCTIAJIUTEIbHBIN
Duodenum JIBEHALIATUIICPCTHAS KHMIIKA
Catarrhal KaTapaabHbII

Jaundice KeIaTyxa -

Origin TIPOUCXOXKICHHE
Involvement BKJIIOYEHUE, BOBJICUCHUE
Spleen cesie3eHKa

Virulent 3apa3HbIid, BUPYJIEHTHBINA

Survive BBDKHUBATb
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3. Match the English words and expressions with their Russian equivalents.

1) acute a) 3apasHbIi

2) to affect B) BBDKHBATh

3) hepatic cells C) XKeJYHbIEe [TPOTOKH

4) bile ducts d) KIeTKH neveHu

5) obstruction €) JKenTyxa

6) mucus f) kaTapanbHbIii

7) inflammatory g) CIU3b

8) duodenum h) cenesenka

9) catarrhal 1) BOCTIAJTUTENTBHBII

10) jaundice J) IBEeHAALATUIIEPCTHAS KMLIIKA
11) origin k) BKIIIOYeHNE, BOBIEUEHHE
12) involvement 1) npoucxoxeHune

13) spleen m) 3aKyrnopka

14) virulent n) OCTPbIi

15) survive 0) BIUSATh, BO3IEHCTBOBATE

4. Listen to the text again.

5. Choose the most appropriate variant of the sentence that corresponds to the
main idea of the text. )

The text is about
a) The prominent Russian scientist S.Botkin
b) The term “Botkin’s disease”, introduced into medicine in 1940
¢) The epidemic (infectious) hepatitis or Botkin’s disease

6. Choose the right answers.

1) What other names of Botkin’s disease are known in medicine?
a) epidemic hepatitis
b) infectious hepatitis
¢) catarrhal jaundice
2) What human organs are affected in this acute viral disease?
a) liver
b) intestines
c) stomach
3) What scientist called this disease catarrhal jaundice?
a) Botkin
b) Virchow
c¢) Sechenov
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4) What is the origin of Botkin’s disease?
a) infection
b) inflammation
¢) heredity
5) Who introduced the term “Botkin’s disease”?
a) Botkin
b) Virchow
¢) Konchalovsky
6) When was it introduced?
a) In the 19" century
b) At the beginning of the 20" century
c) In 1940
7) Whom does Botkin’s disease affect more commonly?
a) children
b) adults
c) the elderly
8) Where is a filterable virus causing Botkin’s disease found?
a) in blood, urine, liver and stools
b) in hepatic cells
¢) in bile ducts
9) With what is the common bile duct obstructed in catarrhal jaundice?
a) with stones
b) with mucus
c¢) with pus
10) The virus is infective only for
a) women
b) men
¢) children

7. Complete the sentences.

a) Botkin’s disease is an viral disease.

b) Botkin’s disease affects hepatic and ducts.

¢) In catarrhal jaundice inflammatory processes in the occur.

d) The disease was called catarrhal jaundice due to of the common
duct with ; ’

e) In 1880 S.Botkin advanced the idea of an infectious of this disease.
f) S.Botkin’s suggestions were proved by such facts as the in this
pathologic process not only of the liver but also of the nervous system, the
kidneys, the enlargement of the , etc.

g) Botkin’s disease more commonly affects :

h) Being highly virulent, virus in water, food, and on hands for
days and weeks.

i) The origin of the disease was proved by the prominent Russian

scientist S.Botkin.





image34.jpeg
28

8. Do the comprehension test. Agree (+) or disagree (-) with the following.

a) The well-known Soviet physician M.Konchalovsky introduced the term
“Botkin’s disease” into medicine in 1940.

b) It is due to a filterable virus that Botkin’s disease occurs.

¢) The virus is present only in blood and urine.

d) The virus is infective only for children.

e) Though the virus is highly virulent, it cannot survive in water, food or on
hands for a long time.

f) Botkin’s disease occurs in epidemic form.

g) The virus is revealed even by a usual microscope.

h) Adults and elderly persons suffer from the Botkin’s disease frequently.

i) The prominent American scientist Virchow called the disease catarrhal jaun
dice.
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UNIT 7

1. Listen to the text “Blood”.

Blood

The blood makes up one fourteenth of the body weight, i.e. 5 litres for an
average man. The blood is contained in a closed system of tubes or blood vessels:
arteries, capillaries and veins.

Like bone or muscle, blood is a tissue, and like other tissue it is composed of
living cells. Blood consists of red cells and white cells floating in a pale yellow
clear fluid, plasma. The cells occupy about 45 per cent of the volume, so that in 5
litres of blood we have less than 3 litres of plasma. A cubic millimetre (cm) of
blood contains 5 million red cells, and the whole 5 litres of blood contains 25
million million. Deficiencies of red cells, of which there are many types, are
known collectively as anaemia. The "white" blood cells are colourless bodies,
larger than red cells. There are normally about 10,000 of them in a cubic
millimeter of blood during childhood, and rather fewer in adult life. More often the
white cells are more affected than the red. Shortage of white cells is leukopenia. In
addition to the true cells, the blood contains small particles, blood platelets
(thrombocytes). A cubic millimeter of normal blood contains about a quarter of a

million of them.

2. Repeat the following words and expressions.
1. average — cpeiHUH
2. blood vessels — KPOBEHOCHBIE COCY B
3. arteries — apTepun
4. capillaries — xanuIApbL
5. veins — BeHBI

6. muscle — MpIIIa
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7. tissue — TKaHb

8. to float — mnaBath

9. fluid — xxuaKOCTH

10.deficiencies — HexXBaTKa, HELOCTATOK
11.anemia — aHeMus

12.to affect — BauaTH

13.adult life — B3pocIibIit Bo3pact
14.shortage — HegocTaToK 4-I1, TeUIHAT
15.particles — qacTuuku

16.platelets — mnacTuHKH

17. to contain — conepxartb

3. Match the English words and expressions with their Russian

equivalents.
1. average a) HeXBaTKa
2. blood vessels b) B3poCIIBIil BO3pacT
3. arteries C) BEHEI
4. capillaries d) aprepun
5. veins €) KaIuIsphl
6. muscle f) Txanb
7. tissue £) MbIILIA
8. to float h) BusTH
9. fluid 1) aHeMHUs
10.deficiencies j) XKuIKOCTH
11.anemia - k) nactuHKM
12.to affect 1) mnaBath
13.adult life m) YaCTUYKU
14.shortage n) B3pOCIIBI BO3pacT
15.particles 0) cpenHui
16.platelets P) HEJIOCTATOK, JIe(PULIUT

17.to contain ) KDOBEHOCHBIE COCY JIbI
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4. Listen to the text again.

5. Choose the most appropriate variant of the sentence that corresponds

to the main idea of the text.

The text is about:
a) abnormalities of the blood
b) blood analyses

¢) characteristics and composition of blood.

6. Choose the right answers.
1) Blood is:
a) a liquid
b) a tissue

¢) a muscle

2) What part of the body weight does the blood make up?
a) one fifth of the body weight
b) one fiftieth of the body weight

c) one fourteenth of the body weight

3) How many litres of blood does an average man have?
a) 5 litres
b) 3 litres
c) 10 litres

4) How many litres of plasma does a human organism contain?
a) 5 litres
b) 3 litres

c) 2 litres
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5) Where do red and white cells float?
a) in plasma
b) in tubes

¢) in blood vessels

6) Deficiencies of red cells are called:
a) leukopenia
b) hematuria

) anaemia

7) Shortage of white cells is called:
a) dysuria
b) anaemia

¢) leukopenia

7. Complete the sentences.

1. The blood is contained in a closed system of

2. There are 3 types of blood : arteries, capillaries and veins.

3. Blood consists of red and cells.

4. Red and white cells float in a pale yellow clear , plasma.

5 of red cells are known as anaemia.

6. The white cells are more than the red ones.

7 of white cells is called leukopenia.

8. There are about 10,000 of white in a cubic millimeter of
blood.

10.In life the number of white blood cells is rather fewer.

8. Do the comprehension test. Agree (+) or disagree(-) with the
following statements.
a) An average man has 5 litres of blood in his body.

b) The blood makes up one fifth of the human body.
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c¢) The blood is contained in a closed system of blood vessels.
d) The blood is a tissue consisting of living cells.

¢) Blood consists of yellow cells and blue cells.

f) Blood floats in a white clear fluid called plasma.

g) In 5 litres of blood there are less than 3 litres of plasma.

h) The white blood cells are larger than red cells.

i) Deficiencies of red cells are called leucopenia.

) Shortage of white cells is known as anaemia.

k) Thrombocytes are small blood platelets.
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UNIT 8

1. Listen to the text “Characteristics and composition of urine”.

Characteristics and composition of urine

Normal urine is a clear yellow liquid. It has only a faint smell. The
unpleasant ammoniacal smell of stale urine is due to the action of air and bacteria.
If there is infection in the bladder (cystitis), the urine may have an offensive smell.
Freshly voided urine is usually acid in reaction, but different types of diet may alter
this. A high protein diet increases the acidity, whereas a vegetarian diet may result
in an alkaline urine. Urine is a solution in water of numerous waste products of
body chemistry. Water makes up 95 to 99 per cent of normal urine. The remainder
is composed of wurea, uric acid, creatinine and metabolized hormones.
Abnormalities of the urine are often valuable clues in diagnosis. Even a very
simple examination can give much information. In certain diseases, urine will
contain substances not normally found. The presence of blood (hematuria), sugar
(glucosuria), or pus (pyuria), for example, are indications of some pathological
conditions in the body. Painful urination (dysuria), usually large amounts of urine
(polyuria), or very small amounts (oliguria) are also indicative of abnormal body
function. Anuria, the complete absence of urine production, indicates kidney

shutdown and is a very grave sign

2. Repeat the following words and expressions.
1. yellow liquid — >xenras >KHIKOCTh
2. faint smell — cna0bIit 3amax
3. ammoniacal smell —aMMuadHbIM 3amax
4. stale urine — HecBeXxas Mo4a
5. offensive smell — pe3xwuii 3amax

6. freshly voided urine — cBexxecoOpaHHast MOYa
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8. acid — kucnOTa, KUCIOTHBIN, KACIBINA
9. alkaline — 1m1e1095, MIETOYHOMN
10. waste products — TpoayKTsI pacrazia
11. body chemistry — oOmeH BemecTB
12. the remainder — octaTtox
13. urea — mo4eBuHa
14. uric acid — mModeBas KucIoTa
15. abnormalities — OTKIIOHEHHUST OT HOPMBI
16. clues in diagnosis — KJIto4 K IOCTAHOBKE MarHo3a
17. pus — rHoMt
18. painful urination — Gone3HeHHOE MOYCHCITYCKaHIE

19. kidney shutdown — nmoueyHast HeIOCTaTOYHOCTh

3. Match the English words and expressions with their Russian

equivalents.
] 1. yellow liquid a) HecBexas Moua
_ 2. faint smell b) sxenTas KUAKOCTD
3. ammoniacal smell ¢) cnaObIii 3amax
] 4. stale urine d) MoueBoii my3sIpb
5. offensive smell ¢) HeNPHATHBIN 3amax
7 6. freshly voided urine f) aMmmuauHblii 3amax
. 7. bladder g) IPOJYKTHI pacraja
8. acid h) moueBuHa
i 9. alkaline : i) ocraTok
10. waste products J) KHCIOTHBIH, KUCIIBIH
I 11. body chemistry k) OTKI10HEHHSI OT HOPMBI
. 12. the remainder 1) KJIFOY K TIOCTaHOBKE JMarHo3a
13. urea m) IIe04b, HeTOYHON

14. uric acid n) MoYeBasi KUCI0Ta
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| _ 15. abnormalities 0) IPOIYKThI OOMEHa BELIeCTB
16. clues in diagnosis p) THOH
i 17. pus r) MovueyHasi HeJOCTATOYHOCTh
18. painful urination s) 00JIe3HEHHOE MOYEHUCITYCKaHUe
19. kidney shutdown t) cBe)KecoOpaHHast MOYa

4. Listen to the text again.

5. Choose the most appropriate variant of the sentence that corresponds

—~ to the main idea of the text.

- The text is about:
a) the origin of urine
b) abnormalities of urine

¢) urine analyses and diagnosis

6. Choose the right answers.
1) What smell does normal urine have?
a) It has only a faint smell.
b) It has an unpleasant ammoniacal smell.

c¢) It may have an offensive smell.

2) The acidity of the urine depends on:
a) what you eat
b) what you drink

¢) what you eat and drink -,

3) Water makes up:
a) 50 to 75 per cent of normal urine
b) 75 — 95 per cent of normal urine

¢) 95 — 99 per cent of normal urine
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4) The reaction of freshly voided urine is usually:
a) acid
b) alkaline

¢) neutral

5) Hematuria is the presence in urine of:
a) pus
b) sugar
¢) blood

6) Olyguria means:
a) large amounts of urine
b) small amounts of urine

c¢) complete absence of urine production

7) Anuria means:
a) large amounts of urine
b) complete absence of urine production

¢) small amounts of urine

7. Complete these sentences.

1. Normal urine is a clear yellow

2. The ammoniacal smell of stale is due to the action of air
and bacteria.

3. In cystitis the urine may have an offensive

4. is composed of urea, uric acid, creatinine and
metabolized hormones.

5. The complete absence of urine production may lead to kidney

6. of the urine are valuable clues in diagnosis.

7. The presence of sugar in urine is called
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8. Painful is called dysuria.

9. The presence of pus in urine is called pyuria.

8. Do the comprehension test. Agree (+) or disagree(-) with the
following statements.

a) Normal urine has a faint smell.

b) A vegetarian diet may result in an acid urine.

c) Freshly voided urine is usually alkaline in reaction.

d) Water makes up 95 to 99 per cent of normal urine.

¢) The presence of blood, sugar or pus in urine is indicative of some
pathological conditions in the body.

f) Normally blood, sugar or pus must not be found in urine.

g) Urea, uric acid, creatinine and metabolized hormones make up 50 per
cent of normal urine.

h) Dysuria means painful urination.

i) A high protein diet decreases the acidity.

j) Infection in the bladder is called cyectitis.
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UNIT 9

1. Listen to the text “Instant blood test”.

Instant blood test

To a doctor, a patient’s blood sample is a special index. Medical analysis of
a blood count can help to spot various infections, diseases and even some type of
cancer. Usually doctors have to wait hours and sometimes days to test a blood
sample. But now even untrained medical workers can perform on-the-spot blood
tests and get results in minutes, thanks to newly developed electronic instruments.
Doctors devised a diagnostic system that consists of a centrifuge and an incubator
for blood samples, and a reader that can diagnose the condition of the blood. The
reader is a version of a microscope connected to an ultraviolet-light source. When
beamed to the blood sample through filters, the light is able to detect red cells,
white cells and platelets, the blood clotting component. Then the computerized
sensors can automatically measure these components.

All that a medical technician is to do is look through the microscope
eyepiece.

According to the developers, blood-test analysis with this system may take
about 15 minutes.

Instant diagnose are the object of recent research.

Japanese scientists designed an instrument which can detect the presence of
cancer within a few minutes. A special reagent must be used. It coagulates the

blood and the results of the analyses are displayed on a screen.

2. Repeat the following words and expressions after the announcer then
read them.
1. Instant blood test — axcnpecc-aHanus KPoBU
2. Blood sample — obpa3zel kpoBu
3. Special index — 0coOblii IOKa3aTesb

4. Untrained medical workers — HeoOyueHHbIH MeMLIMHCKUH IIePCOHA
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5. On-the-spot blood test — 3kcrpecc-aHaau3 KPOBU

6. To devise a diagnostic system — co3gaTh (u300pecTH)
JMarHOCTHYECKYIO CUCTEMY
7. Ultraviolet-light source — uctounuk Y ®-u3nyueHus

8. To be beamed t0 — OBITH HAIPABICHHIM Ha Y.-JL.

9. To detect smith — o6HapyxuBaTh 4.-.

10. Blood clotting component — KOMIIOHEHT, CBOPAUNBAIOLINH KPOBL
11. A centrifuge — nenrpudyra

12. An incubator for blood — unky6arop mis 00pa3oB KPOBU

13. A reader — cuuThbIBaroliee ycTpoiicTBO

14. A microscope eyepiece — OKYJISIp MEKPOCKOTIa

15. Instant diagnosis — akcnpecc AMArHOCTHKA

— 3. Match the English words and expressions with their Russian
equivalents.
1. The microscope eyepiece a) 0coOBlil mokazareib
B 2. Instant diagnosis b) obpasew KpoBHU
3. Instant blood test C) UCTOYHUK Y D-m3imyderHvst
= 4. On-the-spot blood test d) HeoOyueHHBIH  MeAMUMHCKHUH
nepcoHal
i 5. Blood sample e) ueHTpudyra
B 6. Special index f) maky6aTop ISt 06pPA3LIOB KPOBU
7. Untrained medical workers g) KOMIIOHEHT CBOpA4MBAOLIMI
-~ KPOBb
8. A centrifuge _ h) cumThIBatOIIEe YCTPOUCTBO
B 9. An incubator for blood . i) OBITh HampPaBJIEHHBIM Ha Y.-JI.
B 10.A reader J) 0OHApyKHUBATh U.-JI.
11.Ultraviolet-light source k) sKkcnpecc-aHaians KpoBu
~ 12. To be beamed to 1) cpouHBIH aHANU3 KPOBH
13. To detect smith m) OKyJIsIp MUKPOCKOIa

14. Blood clotting component n) 3KCTIpecc AUMarHoCTHKa
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4. Listen to the text again.

5. Choose the most appropriate variant of the sentence that corresponds

to the main idea of the text.

The text is about:
a) performing on-the-spot blood tests and get results in minutes
b) newly developed electronic instruments thanks to which blood-test
analysis takes about 15 minutes
c) instant blood test which helps to spot various infections, discases and

even some type of cancer

6. Choose the right answers.
1) What is a special index to a doctor?
a) a patient’s blood test
b) a patient’s urine test

¢) a patient’s gastric juice analysis

2) What helps to spot various infections and diseases?
a) medical analysis of a blood count
b) medical analysis of a urine count

¢) medical analysis of a gastric juice

3) How long have doctors to wait to test a blood sample?
a) for a few years
b) for a few days

c) for a few months

4) Who can perform on-the-spot blood tests nowadays?
a) untrained medical workers
b) well-trained medical personnel

¢) highly-qualified doctors
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5) What does a diagnostic system devised by doctors consist of?
a) a centrifuge
b) a reader

¢) a centrifuge, an incubator for blood samples and a reader

6) How long does blood-test analysis with this system take?
a) 5 seconds
b) 2 hours

¢) 15 minutes

7) How do the computerized sensors measure blood components?
a) automatically
b) mechanically

¢) instrumentally

7. Complete the sentences.

1. The reader is a version of a microscope connected to

2. The light is able to red cells, white cells and platelets.
3. A special must be used to detect the presence of
cancer.

4. Usually it takes doctors hours and even days to test a

sample.
5. A patient’s blood sample is a special to a doctor.
6. Thanks to newly developed electronic even untrained

medical workers can perform on-the-spot blood tests.
7. The computerized sensors automatically blood
components.

8. Instant diagnosis is the object of recent
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8. Do the comprehension test. Agree (+) or disagree(-) with the
following statements.

a) Usually doctors have to wait months and even years to test a blood
sample.

b) Medical analysis of a blood count can help to spot some type of
cancer.

c¢) The untrained medical workers cannot perform on-the-spot blood tests.

d) After being detected by the ultraviolet- light source, blood components
are automatically measured by the computerized sensors.

e) A medical technician looks through the microscope eyepiece
measuring blood components.

f) Instant blood-test analysis is said to take about 5 minutes.

g) Scientists are not going to carry on further research work with this
system.

h) A new instrument, designed by Japanese scientists, is said to be able to

detect the presence of cancer within a few minutes.
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UNIT 10

1. Listen to the text “Major Surgery Before Birth”.

Major Surgery Before Birth

Blake Schultz appeared to be doomed before he was even born. While he
was in his mother’s womb, a hole opened up in his diaphragm and allowed his
stomach, spleen and intestines to press into his chest cavity and put pressure on his
lungs. The grim prognosis: at birth he would probably be unable to breath.

Bat Blake did breathe, and today he is healthy nine — old — thanks to a
dramatic operation carried out when he was still a fetus. This procedure, the most
impressive achievement yet in the young field of fetal surgery, was performed by
Dr. Michel Harrison and colleagues at the University of California, San Francisco.
Seven weeks before Blake was born, the doctors cut into his mother’s uterus and
partly removed the fetus. Then they opened his left side, patched the hole in his
diaphragm and put his organ back in the right places. Since the early 1980s,
doctors have operated on fetuses, fixing urinary-tract blockages, for example, or
inserting needles to drain excess fluid from the brain. But never before had
physicians successfully performed such major surgery in the womb. Harrison
hopes that his technique can be used to correct other potentially fatal problems,
including large lung or spinal tumors and certain heart conditions. Several experts
echoed that optimism. “We’re in a whole new era of fetal treatment,” said Dr.
Eugene Pergament, head of reproductive genetics at Northwestern Memorial

Hospital.

2. Repeat the following words and expressions after the announcer then
read them.
1. to be doomed — ObITE OOpEUEHHBIM
2. mother’s womb — yTpo6a marepu
3. field of fetal surgery — o61acTh npeHaTaIbHON XUPYPrUun

4. mother’s uterus — MaTKa MaTepu
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5. to remove the fetus — BBITAIUTE IO

6. to patche the hole — 3anmarats apIpy

7. to drain excess fluid — oTkauaTh JUILIHIOK KUAKOCTh
8. lung tumors — OImyXox JerKux

9. spinal tumors — Oy XoJ¥ MMO3BOHOYHHKA

10. fetal treatment — JTedueHne rmiona

11. to be unable to breathe — ObITb HECITOCOOHBIM JBIIIATE

3. Match the English words and expressions with their Russian
equivalents.

1. to patch the hole a) BBITALUTh I1JIO]T

2. to remove the fetus b) 3amarath IIpy

3. to be doomed ) OBITH HECTTOCOOHBIM JIBIIIATH

4. mother’s womb d) maTka maTepu

5. mother’s uterus e) yrpo0a Matepu

6. lung tumors f) neuenne rurona

7. fetal treatment g) OIyXOJIU JIETKUX

8. to be unable to breathe h) GBITE OOpeUeHHBIM

9. field of fetal surgery 1) OTKa4aTh JHULLIHIOIO KHUIKOCTh

10. to drain excess fluid j) 0bmacTh MpeHaTambLHON XUPYPruu
4. Listen to the text again.

5.

to the m

Choose the most appropriate variant of the sentence that corresponds

ain idea of the text.

The text is about:

a) a successful major surgery in the womb
b) the operations on the fetuses
c) a new era of fetal treatment

d) saving lives of fetuses by entering mothers wombs





image52.jpeg
46

6. Choose the right answers.
1) Who was Blake Schultz?
a) a doctor
b) an expert in medicine

¢) an unborn baby

2) What happened with him?
a) a hole opened up in his diaphragm
b) he had a large spinal tumor

¢) he had an excess fluid in his brain

3) What would he probably be unable to do?
a) to breathe
b) to walk

¢) to hear

4) How many weeks before Blake’s birth was the operation performed?
a) 2 weeks before
b) 7 weeks before

¢) 9 weeks before

5) How did the doctors save Blake’s life?
a) they cut into his mother’s uterus, partly removed the fetus and
patched the hole in his diaphragm
b) inserted a needle and patched the hole with it

c¢) operated on Blake whern he was born

6) Was the operation successful?
a) yes, it was successful
b) no, it wasn’t successful

¢) yes, it was partly successful
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7. Complete the sentences.

1. We are in a whole new era of treatment, said Dr.

Eugene Pergament.

2. Doctors use needles to excess fluid from the brain.

3. Since the early 1980s, doctors have operated on

4. Dr. Harrison hopes that his can be used to correct other
potentially fatal problems.

5. Certain heart can also be treated in Dr. Harrison’s
technique.

6. The operation carried out by Dr. Michel Harrison and his colleagues

was the most impressive achievement yet in the young field of fetal

8. Do the comprehension test. Agree (+) or disagree(-) with the
following statements.
a) Today Bat Blake is a healthy nine-old child.
b) Doctors have never operated on fetutes before.
¢) Dr. Harrison’s technique can correct other potentially fatal problems.
d) Such major surgery in the womb was successfully performed for the
first time.
¢) Medical experts do not share Dr. Harrison’s optimism.
f) Blake Schultz is said to be doomed before he was even born.
g) He was only seven weeks, when the doctors cut into his left side and
patched the hole in his diaphragm.
h) Doctors patched the hole in Blake’s heart when he was still in his

mother’s womb.
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UNIT 11

1. Listen to the text “ Care of the baby”.

A baby needs warmth, contact and love and these needs begin to manifest
themselves very early.

The baby must not be allowed to get cold. Neither should he or she be
allowed to become so hot that the skin becomes clammy and the baby
sweats. The importance of cleanliness for a newborn baby cannot be
overemphasized. The items used for the baby, the tub the baby is bathed in
and the clothes the baby wears should be kept very clean and dried well.
Such measures will minimize the risk of the baby developing infections.

As in any relationships, the perceptions the two people have of each other
will lay the foundation for the type of relationship they will have in the
future. It is important for parents to understand that if they are interested in
influencing the future health and well-being of their child, it is worth
thinking about those things which will most quickly give the newborn baby
good perceptions of them and their family.

After birth, the baby experiences the outside world through feeling, sight,
hearing, taste, smell and noise. It is through these senses that the baby will -
form the first perceptions of his or her parents. Parents are always interested
in satisfying the baby’s need for food but do not always think about how
they can use the baby’s other senses to begin to develop their mutual
relationship. Parents should be encouraged to have frequent, gentle, skin-to-
skin contact with their babies ( in some cultures the mothers gently massage
the baby with oil). Time should be spent talking to the baby, looking directly
into his or her eyes and holding the baby no more than 30-40 centimeters
away to allow the infant to see the face and eyes of the person talking.
Many people are unaware of the capabilities of the newborn baby to hear,
see and feel. Ask the parents to watch the responses of their baby from the
time of birth and they will never again doubt the baby’s abilities in these

areas.

. Repeat the following words and expressions.

Clammy JUTNKAA
To sweat II0TETh
To be overemphasized NepeoLeHUBaTh

To minimize the risk COKpalllaTh PHCK
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Perceptions OLIyLICHUS

To experience MOCTHUTraTh Ha OIbITE

The newborn baby HOBOPOXIEHHBIN

Mutual relationship B3aMMOCBSI3b, IByCTOPOHHUE OTHOILLUEHHMS
To massage the baby MacCHpOBarTh, JieJaTh peOeHKy Maccax
Capabilities BO3MOKHOCTH

To be unaware of smth. He 3naThb, He IPeACTaBIATH U-JI.

3. Match the English words and expressions with their Russian equivalents.

1) Clammy a) MoTeTh

2) To sweat b) coxparaTs puck

3) To be overemphasized C) JMIKHHA

4) To minimize the risk d) He 3HATH, HE IPE/ICTABIATD Y-l
5) Perceptions €) BO3MOYKHOCTHU

6) To experience f) B3auMoOCBs3b

7) The newborn baby g) nenarb peOGeHKy Maccax
8) Mutual relationship h) mepeoleHUBATH

9) To massage the baby ) HOBOPOXKAEHHBIH peOeHOK
10)  Capabilities j) oulylLeHus

11) To be unaware of smth. k) nocrurarth Ha OmbITE

4. Listen to the text again.

5.Choose the most appropriate variant of the sentence that corresponds to the main
idea of the text.

The text is about
a) The relationship between mother and child.

b) The capabilities of the newborn baby .
c) The proper care of the baby.

6. Choose the right answers.
1) What is the most important thing for the newborn baby?

a) cleanliness
b) massage
c) breastfeeding

2) What measures minimize the risk of developing infectious diseases?
a) keeping clean and dry the baby’s clothes and other items
b) feeding the baby properly
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¢) massaging the baby with oil

3) What should be undertaken to develop mutual relationship between the
baby and its parents?

a) talking to the baby

b) looking directly into the baby’s eyes

¢) holding the baby no more than 30-40 centimeters away

4) What are the capabilities of the newborn baby?

a) it can hear, see and feel

b) it can sing and dance
c) it can read and write

5) What should parents do if they want to influence the future health and
well-being of their child?

a) give good perceptions of them and their family

b) take the baby to the swimming-pool

c) buying the baby beautiful clothes

5) Through what senses does the newborn baby form the first perceptions of
its parents?

a) through feeling

b) through hearing

c) through smell

7) What will most quickly give the newborn baby good perceptions of his
or her parents?

a) frequent and gentle contact with the baby

b) making noise and speaking out loud

c) bathing the baby daily in a clean tub

8) What does a baby need from the first days of its birth?

a) warmth, contact, love

b) cleanliness

c) proper care

7. Complete the sentences.

a) When the baby is cold or hot, its skin becomes :

b) The baby forms the first of the outside world through such
senses as feeling, sight, hearing, taste, smell and noise.

¢) Cleanliness the risk of the baby developing infections.

d) Parents should use the baby’s other senses to develop their mutual
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e) Many people doubt the of the newborn baby to hear, see and
feel.

f) Many parents are that the baby’s need for food is not the only
sense that needs being satisfied.

g) In some cultures the mothers gently their babies with oil.

h) The baby discomfort if little time is spent on his hygiene.

i) The importance of cleanliness for a baby cannot be

8. Do the comprehension test. Agree (+) or disagree (-) with the following
statements.

a) A baby’s needs in warmth, contact and love begin to manifest themselves very
early.

b) The baby forms the first perceptions of his or her parents through feeling, sight,
hearing, taste, smell and noise.

c) Itis quite sufficient to satisfy the baby’s need for food.

d) Parents should not be encouraged to have frequent, gentle, skin-to-skin contact
with their babies. ;
e) Parents should hold the baby no more than 30-40 cm away to allow the infant to
see the face and eyes of the person talking.

f) Parents should watch the responses of their babies from the time of birth.

g) Babies must not be allowed to get neither cold nor hot.

h) When the baby sweats, his or her skin becomes dry and red.

i) The need in cleanliness is not very important for a newborn baby.
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UNIT 12

1. Listen to the text “The baby in the neonatal period”.

The baby is said to be “newborn” or “neonate” for the first four weeks of

life because that is the period during which the infant demonstrates the
characteristics found in the newborn and during which she or he adapts to
life outside the womb. The average weight of a newborn baby is
approximately 3-3,5 kilos. At the time of birth, the bones of the baby’s scull
are not yet fused. This is to allow them to overlap a little during birth, easing

the passage through the birth canal.

The mother should not be afraid to touch her baby’s head. During the
passage of the baby through the birth canal, the baby’s head may take on an
abnormal shape. This is due to the overlap of the bones and is called
moulding. The moulding disappears in a few days. The fontanels and sutures
gradually close over so that within three months of birth the skull is

complete.

The umbilical cord will take about a week to shrivel and dry up. The mother
will need to be advised to keep it dry and clean. It should not bleed during
that time. The first stools a baby passes are black and sticky. This is called
meconium.Very quickly after feeding is established , the stools start to turn
yellow and by the third day of life, the baby’s stools should show no trace of

the black color.

Some babies are born with birthmarks, which the mother may be concerned
about. These should be discussed with the doctor.

2. Repeat the following words and expressions.

Neonate

To adapt to life
Outside the womb
The average weight
Approximately

To overlap

To easy the passage
The birth canal
Abnormal shape
Moulding

Fontanel

Suture

The umbilical cord

HOBOPOXJI€HHBII
MPHUCITOCOOUTHCS K KU3HU
BHE MaTKH

. CpelnHui Bec

NpHUOITN3UTENEHO

HAXOAUTH OPYT Ha IpyTa, epeKphiBaTh
00JIErYUTh MPOXOKICHHUE

POIOBOM MyTh

HempaBHJIbHAas Gopma

(dopmupoBanue ( KocTeil yepena)
POIHUYOK

II0B

TyTIOBHHA
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To shrivel CMOPIIUBATHCSI, CChIXATHCS
To bleed KPOBOTOYHTH
Birthmarks pOIUMBIE MATHA

3. Match the English words and expressions with their Russian equivalents.

1) Neonate a) POIHHUYOK

2) To adapt to life b) obnerduTs npoxoxaeHue
3) Outside the womb C) KPOBOTOYHTH

4) The average weight d) ponoBoit nyTh

5) Approximately €) HOBOPOX/ICHHbII

6) To overlap f) cceixarbes, TOACHIXATH

7) To easy the passage g) HemnpaBuJIbHas Gpopma

8) The birth canal h) cpennuii Bec

9) Abnormal shape i) BHe MaTKu

10) Moulding j) mymoBuHa

11)  Fontanel k) wmos

12)  Suture 1) ponmmble nATHA

13) The umbilical cord m) ¢opmMHupoBaHHe (KOcTel uepena)
14)  To shrivel n) NpUONU3NUTENLHO

15) To bleed 0) MPUCTIOCOOUTHCS K KH3HA
16) Birthmarks P) HaXOAMTh APYT HA Apyra

4. Listen to the text again.
5. Choose the most appropriate variant of the sentence that corresponds to the
main idea of the text.
The text is about
a) The first four weeks of the baby’s life
b) The newborn baby’s adaptation to life outside the womb
¢) The characteristics found in the newborn
6. Choose the right answers. :
1) What is the average weight of a newborn baby?
a) 3-3,5 kilos
b) 4-5 kilos
¢) 1,5-2 kilos
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2) How much time is needed for the fontanels and sutures to be closed
over?
a) Three months
b) Half a year
c) A year

3) During which period the baby can be called “newborn” or “neonate™?
a) For the first two months
b) For the first six months
¢) For the first two weeks

4) What color are the baby’s first stools?
a) Yellow
b) Green
c) Black

5) What is meconium?
a) The baby’s urine
b) The baby’s stools
¢) The baby’s mucus

6) What are birthmarks?
a) Moles
b) Freckles
¢) Skin abrasions

7) How much time will it take the umbilical cord to shrivel and dry up?
a) About a week
b) Two weeks
¢) A month

Complete these sentences.

a) The period during which the baby is to life is called neonatal.

b) The average of a newborn baby is 3-3,5 kilos.

¢) The bones of the baby’s skull are not fused at the time of birth which
allows to easy the infant’s _* through the birth

d) This is due to the of the bones and is called moulding.

e) The and sutures close over within three months of birth.

f) The umbilical will take about a week to and dry up.

g) The umbilical cord should not during that time.

h) The mother is usually concerned about her baby’s

i) The baby’s head may sometimes take on an shape.
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8. Do the comprehension test. Agree (+) or disagree (-) with the following
statements.
a) At the time of birth, the bones of the baby’s skull are completely fused.
b) The mother should not touch her baby’s head.
¢) The moulding disappears in a few days.
d) The overlapping bones of the baby’s skull easy its passage through the
birth canal.
e) Within three months of birth the baby’s skull is complete.
f) The mother should keep the baby’s umbilical cord dry and clean.
g) The umbilical cord may bleed a little during that time.
h) After feeding is established, the stools show no trace of the black color.
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OO0yuasch aynHpOBaHUIO HA ypPOKE, TO €CTh 3aHUMAsACh YUEOHLIM ayId-
pOBaHHEM, y CTYJEHTOB OJHOBPEMEHHO (OPMHPYIOTCS W JPYTrHe peveBble WIIH
SI3bIKOBBIE HaBBIKU ( JIEKCHYECKHe, rpaMMaTH4YecKkue, (poHeTHUecKue). Ay1uoTek-
CThI JIAIOT MHOOPMAIHIO JIIST 00CYKIEHHUSL, & ITO TIPEIIONIAraeT Pa3BUTHE HABBIKOB
rOBOPEHMsA WM nuchbMa. [luanor Kak ¢popMa yCTHOPEUIeBOro oOIIEH s 10 CYTH Jie-
Jia HEBO3MOXKEH 0e3 XOpoImo cOPMUPOBAHHBIX HABBEIKOB ayaupoBaHus. B rom

cily4ae ay JMpOBaHUe SIBISIETCS YK CPEACTBOM 00y IeHHS.





